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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that

this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet

of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D orE, inthe appropriate

space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix

Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items

accurately.

4. This Question Booklet contains 70 questions carrying equal marks. All questions

must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with

a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada

version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making

any further markings in the OMR Answer Sheet. Be seated till the OMR Answer
Sheet is collected. After handing over the OMR Answer Sheet to the Invigilator

you may leave the examination hall.
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1. Natural aerosol amongst these is

a) Salt b) Soot c) CFC d) Silver acetate

2oln® ADRADIN mcﬁwd_)ﬁ% VTIOBO

a) gy b) Ien

c) CFC d) aj’%z)oda e3R)E30E3S
2. Which among these is a life style disorder ?

a) Typhoid b) Cholera c) Obesity d) Dysentery

B YNS CPPT ReBIFROOTRT RIS 9

a) DRISC3 %,0 b) o0 | C) wRey d) 520508
3. Bio indicators of air pollution is

a) Algae b) Pinus c) Lichens d) Fern

203D d.m@a’gsd %&Dé RWIBNRPOTT

a) 2o b) %mﬁ‘ C) 3L T d) =de AE
4. A balanced diet should have the following in required proportions

a) Carbohydrates b) Proteins

c) Vitamins and minerals d) Allthe above

ADVBREOT BS3TITT) 2O BRLTOITI

a) 3T QTN b) &R tdemons)d

C) VBT N 2303 DTN d) 3300 ©o3NEd
5. Home remedy for common cold and cough is

a) Cinnamon and honey ,. b) Apples

c) Curry leaves d) Aloevera

mm;’% éahg AP c%eééﬁ AT T ms%

a) Do w02y wed  b) Feew C) 3Oy d) ©cnelT
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6. The birth of autistic children In 'Dakshina Kannada District is due to the use of
pesticide
a) Endosulfan b) Metacid c) DDT d) Atrazide

wi ol RS eve ARl MNYY won FFOI0WT BRABT TY HIIE, TTERTTT
WMDw) UPz%f‘\.}ujg

a) 2OTRCRTRT® D) LT Cc) &.&.L3. d) eseEEt

7. Energy stored in the earth is

a) Magma b) Geothermal c) Tidal d) Wind

AR BTYTO) TOTONTOZ T3

a) =R b) welregmore®  C) €rer d) ne¢
8. Knock-knee syndrome Is caused by

a) Fluoride pollution b) Land pollution

c) Mercury poliution d) Arsenic pollution

M OB -0 TOCWESEOTD VW0 LOFBOTD

a) LRICT DRI, b) e =N

c) oorn IRIY d) so7ReRE DRI,
9. The eco-friendly fuel is

a) Petrol b) CNG c) Kerosene d) LPG

TUR0 Aedo TORDIT, YVTTDHOT

a) LR e u b) .07 C) ﬁafﬁa@s—ém d) .22

10. Expand BOD

a) Biology of Development b) Biological Oxygen Demand

c) BioOxygen Deformation d) Biological Organic Deterioration
BOD ¢ 0= 8 Thesl

a) Biology of Development b) Biological Oxygen Demand

c) Bio Oxygen Deformation d) Biological Organic Deterioration
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11. Permissible thickness of plastic cover used is
a) 40 microns b) 20 microns c) 100 microns
PUTCIRENTLD 235G VTV TRF WD T
a) 40 IR D) 20 TR’ c) 100 3T

d) 10 microns

d) 1053277

12. Amoebic dysentery is caused by

a) Virus b) Bacteria c) Protozoa ~d) Fung
2300 L3N ToULITOW e
a) RWTED D) 239800350 c) Zpnedneme d) 3deon

13. The chief function of vitamin K is to regulate
a) Appetite b) Blood clotting

‘K’ B@oﬁd 20080, T2OF, faddgi QCI0ERITYH TR

c) Resistinfection d) Bloodthinning

a) 2eLoFECid b) S IPnuond  c) AreoB0meTE d) TF I0mMnT
14. Noise I1s measured In

a) Frequency b) Decibles c) Dobson d) Velocity

TRT 3eTZC0D0 IPO30D  BUROTIIVD

a) SToMo3T b) wWawe* C) TWFRD® d) Jen
15. The pH level of acid rain water is

a) 5.7 b) 4.0 C) 5.6 d) 6.0

S0 TWOF oI pH Tzoees

a) 5.7 b) 4.0 c) 5.6 d) 6.0

16. POP stands for

a) Persistent Organic Pesticides
c) Permissable Organic Pollutants
POP ¢ R @ TR

a) Persistent Organic Pesticides
c) Permissable Organic Pollutants

b) Persistent Organic Plastics
d) Purifiable Organic Petrochemicals

b) Persistent Organic Plastics
d) Purifiable Organic Petrochemicals

— —m—u. w———n
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17. Fluorosis affects

a) Kidney b) Bones c) Teeth d) Bothbandc
*@Mdfa RO TonNRINeMOSD 30N
a) TORSWIFTIN D) oY C) TLONTS d) b8 C 2T

18. An example for water borne disease

a) Malaria b) HIV c) Cholera d) Asthma
SeUT WRUDLCTTRED F2OWEN D0 NWTRITE
a) [ e 003% D) T523°.20. . C) TOT d) TE

19. ltai-ltai disease in Japan caused by consumption of rice contaminated with
a) Mercury b) Cadmium c) lron d) Carbon
BT RO TOBINWTON VEICIO-VETICI F2CLUCIN TTO TOFTWD

a) T2TOR o) JE-PRENDlevble C) 32 d) oo

(W

20. The term “Ecology” was termed by

a) Ernst Haeckel b) Mendel c) Robert Cook d) Louis Pasteur
HoB0ld BT WS

) VIR T, b) ZooEes

C) ToWEF & BT d) ©RCF* mﬁdwcf

21. Expand NIOSH |
a) National Institute for Occupational Silicosis Health
b) National Institute of Occupational Service Health
c) National Institute ot Occupational Satety and Health
d) National Institute of Oceanic Science and Health
NIOSH & 25 3 des
a) National Institute for Occupational Silicosis Health
pb) National Institute of Occupational Service Health
c) National Institute of Occupational Safety and Health
d) National Institute of Oceanic Science and Health

SPACE FOR ROUGH WORK




IORER TR 7- 'MS - 603

22. Iron deficiency leads to

23.

24.

25.

26.

a) Anaemia

b) Improper transportation of respiratory gases
c) Increase in maternal and infant mortality
d) Allthe above

AGAMIIS ézfgdmoéd 300300 DOTOTD

a) 03863 b) &0 303003 B0odS

C) ZO0W R0 d3on¢ TT, TUF d) 20O ),

Siddha system of medicine is a holistic approach which is a major contribution of

a) Baba Ramdev b) Siddha Agastiyar

c) Ravi Shankar Guruj d) Jakki Vasudev

w@é”ﬁ@ﬁd)ﬁ ~C3 R wZﬁ@OdJ w&h)@ oInTANIe

a) IO Uaodew’ b) Nd eﬁm QD" C) ORJoso® noowee:  d) %3 SORITICED

The alternative system of medicine based on the principle that “Like cures like”
a) Naturopathy b) Homeopathy c) Allopathy d) Ayurveda

35 8RO° ST 33D @63 3,0, B0 wdé OTIT

a) mzﬁodfaewé b) é.raeébacﬁraewé c) eocdnemd d) esc30BFen

Dissolved oxygen in water comes from

a) Photosynthesis of aquatic plants b) Diffusion of atmospheric oxygen

c) Oxidation d) Bothaandb

ROTO) FONTIE ESTVHTZE SRV

a) WORRNY T8 OB b) S0BOTTEITT ESTIWRTLS ROOIPLTS
C) QUSHF T d) a2 b

Vitamin ‘A’ deficiency leads to

a) Blurred toes and fingers b) Anaemia

c) Night blindness d) Scurvy

‘A’ eﬁmqoﬁcﬁ BRTIONOTTTID OO '

a) 23080 Tonw TOTNG NS b) T3ées3

C) ado%bn’sa%a d) r%é:)F'
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27. Ascorbic acid is rich In

a) Milk, curd, butter and cheese b) Vegetables and fruits
c) Citrus fruits d) EQg
SAPIOF SIS SRy A0 L20TINTIBTS
a) Toe, WJVPIT, 3R ROBY BT, b) 2TT0 0@ 59@.33
C) TOPOIVT Ssagaﬁecb d) dx.raéfi3
28. HIV stands for
a) Human Immuno-deficiency Virus b) Hindustan Inter Virus
c) Heavy Industrial Vehicles d) Human Intervention Virus

HIV o3> Q7,3 cr@
2) TRV YRR - BRI FO&° b) 20TRTITT QoLT® 0~

C) B BOBY,CPS* B d) BREOTT VT IR’ F0R°
29. Who is considered as father of yoga ?

a) Charaka b) Ramdev

c) Pathanjali Maharshi d) Bothaandb

oiraen’sa:-o;d SIS

a) 23038 b) Cooex® c) TIow® SO d) a &) b
30. Best way of disposing bio-meadical waste Is

a) Incineration b) Opendumping c¢) Landfills d) Open burning

%&)6 BROOINT @%z%rf@ BT QT B DO

a) OB/ SOTDRROY T b) 33T Tod IHRTEFHTO

C) FRIOODY TRFOHTO d) W&TonoN ROTBIHT
31. Which of the following is not a green house gas ?

a) Water vapour b) Oxygen c) Carbon-di-oxide d) Methane

QT BAITO T LAV,

a) QeTow b) €350 C) Qoo @ &3 @ d) 05T
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32. The percentage of fresh water available Is

a) 71 % b) 100 %

c) 2.5 % d) None of the above

SRR ©YITR Ao DN JeBT T:DI0E?

a) 71 % b) 100 % c) 2.5 % d) cInmyae @
33. Depletion of oxygen or BOD in water causes

a) Increase in biodiversity b) Death of aquatic animals

c) Makes water more fit for drinking d) None of the above

NEOTE) W NT BREDT 320302003 (BOD) 1t R0230RBE
a) 23T FORE BB

b) zeEoNs R

C) QeTd BB 03N, FORIN SITBIT) T

d) ST CTRRTP B

34. Anthropogenic causes for the increase in atmospheric CO, concentration are

a) Fossil fuel combustion b) Cement manufacturing
c) Deforestation d) Allthe above
THBIRTROT BOTPOT T, 53 B AT TIPT, TR0 WP Dlelo DOTT
a) TSOLVENY IR b) 2330083° VTVT
C) €93eq, T d) 0O e
35. Fruits and vegetables are rich in |
a) Minerals b) Vitamins c) Bothaandb d) Chitin
&’saga BB BTFTOOND VRNPOT BRBTIBS
a) VTN b) @@oﬁﬁ% c) a b TR d) LN
36. The World Environment Day is celebrated on ~
a) 6" June b) 6" August c) 51" June d) 215t May
D, DOAT aédﬁg{ Q0T E5BORTINIBE
a) wRJ 6 T b) &snx® 6 Cowd C) RRI* 5 o d) e 21 Cozd
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37. Carbon monoxide is a pollutant because

a) Reacts with oxygen b) Inhibits glycolysis

c) Inactivates central nervous system d) Reacts with haemoglobin

QOMROT BRToE & BRIT,TITE, Fo0D L0

a) BRWITLRES PSRBT b) %M@%ﬁédﬁw&gd P

c) $eom Eﬁddaocéeddg{ SO0TO BRBIBT d) SRRENRIT WS DSFATT

38. Allthe following are consequences of air pollution except

a) Acid precipitation b) Eutrophication
c) Depletion of the ozone layer d) Global warming
DT mmm@@ RPTTR.
a) B ﬁo&bé%&)é D) CI0LR QLTI
C) WRRET W0 3L d) 2onés T
39. Freon gas causing stratospheric ozone depletion is mainly released from
a) Refrigerators b) Thermal power plant
c) Automobiles d) Mobile phones
%&3@@@33665 2W2EROTT TWO SROTND ToTOTOD FO,ONT  LAOFY LT o0
RRONTOIRMISTS
a) TwTee30° b) J‘uaga Navkcy m@dd
C) TB/INPOTS - d) [P FpesTneom
40. Nitrous oxide has a life span in the atmosphere of about
a) 300 years b) 20—-100years c¢) 114 years d) 12years
DITIRTEITDT ATWITET 83 BT RTINO BEDTITH)
a) 300 @ nsd b) 20 -100 &=emsh ¢) 114 Szemed d) 12 I@Fngh
41. Solar radiations consists of
a) UV radiations D) Visible radiation c¢) Infrared radiation d) All these
ARCIF THLI 200 BRI
a) 8 JeTY 30D b) DRe* 8T C) 830z 3T d) 00T e

™
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: | 42. Unani system of medicine originated in

|
| a) Paris b) Iceland c) Poland d) Greece
' C30R 73, TISCX SRR TG,

a) 3,0%° b) &)dooa'z% C) RPU,0T* d) nes*

43. The biological decomposition of organic substances in controlled condition is

a) Sanitary landfills b) Incineration c) Composting d) Pyrolysis
TOTOIE FWAINY 238 DT DTODY
| a) TR0 0T QOO b) RoTOR)T
| C) rirazgp’ 2ORSED d) FTeedRF’
44. Chemicals released in the human body in response to allergens is
| a) Histamines b) Antihistamines
c) Phenols d) None of the above
f 2080 BMOOTIN SRR S BT, &8 3TN SR CRE
a) &R’ b) 30838R53)S°
C) FI* d) 20eDD WRHTO L

45. Protein deficiency leads to

a) Kwashiorkor b) Scurvy c) Beri-Ber d) Pellagra

SR’ BRTSOIN VW3, FoOERINIBT
a) T A03ResFT° b) ;':’éébs-' c) 30-230 d) JIon,

46. Lower level of platelet count in blood is the symptom of

a) Typhoid b) .Malaria c) Diabetes | d) Dengue
O3 TSNS 2033, “AVRBVDTINF)T) B3 BRENT OTED
a) RJEEB %0 b) &0e3edosw C) RT3, d) @Bonw,

SPACE FOR ROUGH WORK




MS - 603 2 QT TR

4/7. According to Biomedical Waste (Management andHandling) Rules 1998, waste
should not be stored beyond

a) 12 hours b) 48 hours C) 72 hours d) 96 hours
0T RO T, 1 NY QL0 19988 30,3590 2B @'%z%n’@aﬂgt PRBRY WIOTOT ri’om‘;
9298 '
a) 12 nownsd D) 48 rmoe3ned C) 72 Notd3ns d) 96 rnotingo
48. In Ayurveda Tridosha means
a) Vata, pitta, kapha b) Physical, psychological, spiritual
c) Bothaandb d) None of the above
SONTF W BT, RRS0NIT STRER 0BT
a) T, 23, T D) 00T, SIDE, B532,.3T
C) a=o=ob d) Z0edT CIRRTR B
49. The enlargement of thyroid gland is due to the deficiency of
a) Fluorine b) lodine c) lron d) Zinc
”'q.);GaQi)"; plealove c’soﬁ;@éodoo VL0 BRTSCIO0TIINIZTS
a) FROT° b) ©03me&BTe C) éz%s*a d) 33
50. When was family planning initiated in India ?
a) 1950 b) 1951 c) 1952 d) 1953
23002 B30 CAPETITOI 2IVOT LIOTI TRF
a) 1950 b) 1951 c) 1952 d) 1953
51. Blood pressure of a normal person is
a) 140/90 b) 120/80 c) 120/60 d) 150/100
Eﬁd@@?}ﬁoé doﬁoe‘:‘%ﬁ mdmg’% OBLNRBT
a) 140/90 b) 120/80 c) 120/60 d) 150/100
52. The basic science of preventive and social medicine is called
a) Dermatology b) Anthropology c) Epidemology d) Cosmology
T SWOTRTT D0BY TOTINLIT eﬁdmerjsdgmd NOIND D q;oﬁema; QOTIT
a) TR IO b) 038R cmoers C) VATBROO d) Tomwel
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53. According to WHO-2015 report HDI ranking of India is
a) 150 b) 90 c) 130

WHOS 2015 3 530 &500 172833 HDI & 3 ccdmos

a) 150 b) 90 c) 130
54. The stimulant present in Tobacco is
a) Caffeine b) Tannin c) Nicotine
BT3B T UG eRTFOO 20D
a) T D) 3T C) JTRCLIT®
55. Oncology is the study of
a) Bones b) Cancer c) Nerves
rjo@m@d 9T, 030X faca’éﬁ 0200AT
a) =R b) 22007 T c) T

56. Milk is usually adulterated by

a) Pesticide b) Urea c) Chalk powder
mwaﬁi TRRT,TON QOO TOITE DIREIBAT
a) 3eL3TIB o) Jessintolovtr C) RETDROD

57. Quality of honey and ghee is certitfied by

a) Eco-mark b) AG-mark c) FPP
230 0B B0NY mm:{jﬁﬁg{ 3, (B0 BRI ﬂoﬁ@
a) OBR-TITF D) 23-TF° C) ...

58. Which among these is a communicable disease ?
a) 1B b) Cancer
c) Hypenrtension

83 FFNIYNTD_ Q0 e20t0seen
a) 303

5 b) €200
C) OBTLR3TE

MS - 603

d) 160

d) 160

d) lodine

d) ©03relSE

d) Muscles

d) ZvomeorE

d) Allthe above

d) F0e0T e

d) Cardio vascular diseases

d) 3TOD RO TCW
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59. World AIDS Day is celebrated on

a) August 1 b) December 1 c) November 1 d) July 1
DT, DT DITRD 0T SWORIZES
a) a1 b) BJ0wT* 1 C) JIJ0WT* 1 d) w0, 1
60. Which city in India is reported to be highly poliuted ?
a) New Delhi b) Mumbait c) Chennai d) Ahmedabad
plecInE=t ﬁ%sa@ 6“%03 fm@jw’@@f SN0
a) INDHO D) 232083 C) W3, d) ©2DTOTILIT®

61. Chiet component of bio-gas iIs

a) Hydrogen b) Methane

c) Carbon-monoxide d) Sulphur

T LVOTI WO, LT

a) RWORIB b) 0TeT®

C) DOMPOT VRTE, &0 d) noos
62. Root extract of plant is used in the treatment of cancer.

a) Sunflower b) Jasmine c) Rose d) Vincarosea

*BROF T TLROT MOLIT B3RO "zlaiibodas'ii 8 N W3eO0D ﬁsféaﬁaag o

a) ARCFT0E b) =odn C) MW d) D0oTTREACIT:
63. The size of the particulate matter which can enter alveoli is less than

a) 0.5 microns b) 10 microns

c) 20 microns d) 30 microns

39 03Red, TFTEHROT PRYS FEONY MoT, QTS WETINTIZE

a) 0.5 of)%@c\—): b) 10 %@q c) 20 f%@,afﬂ d) 30 aigjﬁg,aj
64. Green house gas which is least influenced by human activity

a) Hydrogen b) Methane c) CFC d) Water vapour

TINDRS LIEOTESFN AOLOTILDT BT TWIF L

a) wWOWIF b) 0Tes® C) AT A d) QeTod
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5. Pollutant which causes asthma

a) Ozone
c) Particulate matter

SINDNE e300 DTOOT BOWWRIZT

b) Pollen dust
d) Allthe above

a) L.2iRe’ b) TTINTEED C) BRYS TR
66. Goddess of medicine is (of Greek origin).
b) Aesculapius c) Panacea

a) Hypiea
N5 witinl ) POTEOTNG BRFT STR NI

b) SA°BR,TeLCIR C) TSCACIT?

a) 03T
67. Ozone hole formation 1S maximum in
a) Africa b) India c) USA
y 23ne BETT SO faémeﬂ@%mﬁdaéﬁ
a) ST D) ¢T3 C) OSNRA R
68. Polio-myelitis is due 10
a) Fungt b) Bacteria c) Virus
Spedodne VLA T~ O83eI030 BTOOTINIBE
) SO0 b) 239860035 C) R0

69. Bagassosis is due 10
a) Soil dust
LITTORDEVAT BTO0T wm@@ﬁe@@ézﬁ
a) a">>9§§ TR b) 33, ONCEA DR C) éwﬁﬁ R

b) Manganese dust c) Canefibre

70. Sick building syndrome is due to

a) Cladosporium b) Bacteria c) Aspergillus

c) BRIV,

MS — 603

d) Antarctica

d) €90tTLIFT

d) Protozoa
d) i@%ﬂ@&@@?
d) Cotton fibre

d) ©3ne

d) Algae

d) W
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